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L=1.80, B=1.31, t=0.10 | L=1.35, B=1.31, t=0.10 L=1.8, H=0.3 1.=1.35, H=0.3
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1 No.0~No.2+6.6 106.6 106.6 55 HHEBL.4, H1.0
2 | No.2+6.6~No0.2+22.4 15.8 15.8 JEIED A f T X
3 | No.2+22.4~No.5+6.7 |  134.3 134.3 65 11 HHEBL.4, H1.0
4 No.5+6.7~No.5+21.0

5 |No.5+21.0~No.5+32.5 JE R D AN fi T XA
6 |No.5+32.5~No.5+40.2 HHEBL.4, H1.0
7 |No.5+40.2~No.6+36.3 JE R D AN fi T XA
8  |No0.6+36.3~N0.8+23.0 HHEBL.4, H1.0
9 | No.8+23.0~No.9+1.1 JE R D AN fi T XA
10 | No.9+1.1~No0.9+16.0 HHEB1.4, H0.9
11 |No.9+16.0~No.10+5.7 JE R D AN fi T XA
12 | No.10+5.7~No.10+34.7 HHEB1.4, H0.9
13 | No.10+34.7~No.10+45.0 JEC R A i T X i)
14 | No.10+45.0~No.12+1.4 HHEB1.4, H0.9
15 | No.12+1.4~No.12+29.7 JEC R A i T X i)
16 | No.12+29.7~No.15+26.5 HHEB1.4, H0.9
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NO. 0 0.0 [t L. 31
NO. 1 11.0 61.0
NO. 2 6.6 45.6 45. 6 0.10 1.31
NO. 2 22.4 15.8
NO. 4 28.0 105.6
NO. 5 6.7 28.7 28. 17 0.15 1.31
NO. 5 21.0
NO. 5 32.5
NO. 5 40.2
NO. 6 36.3
NO. 7 26.0
NO. 8 17.0
NO. 8 23.0
NO. 9 1.1
NO. 9 16.0
NO. 10 5.7
NO. 10 17.7
NO. 10 34.7
NO. 10 45.0
NO. 12 1.4
NO. 12 29.7
NO. 14 5.7
NO. 14 22.7
NO. 15 26.5
i 256. 7 74.3 0.0 0.0
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NO. 0 0.0 = =1.8, el 31, 0. 10
NO. 2 6. 106. 6 55 0.24 13.0
NO. 2 22. 15. 8 PEBR
NO. 5 6. 134.3 65 0.24 15.3
NO. 5 21.
NO. 5 32.
NO. 5 40.
NO. 6 36.
NO. 8 23.
NO. 9 L.
NO. 9 16.
NO. 10 5.
NO. 10 34.
NO. 10 45,
NO. 12 L.
NO. 12 29.
NO. 15 26.
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(m) (m) (m2) (¢519) /) 1 2 3 4 5 6 %
1 NO,0 NO,2+15.2 115 3 345 717 15 27 50 77
2 NO,2+22.4 NO,3+45.0 75 3 225 50 10 50 50
3 NO,3+45.0 NO,5+40.2 95 3 285 64 8| 14 50 64
3-1 40 3 120 27 27 27
4-1 NO,6+36.3 NO,8
4-2 NO,8 NO,8+39.5
4-3
5-1 NO,9 NO,10+10.0
5-2 NO,10+10.0 NO,12
5-3
6 NO,12+20.0 NO,15+26.5
6
325 218 14 27 50 91
(#0) EiE(m2) E=(ton) HEABH
—E 9 91%0.802= 73
EEE 14 14%4.65%1= 65 8 H
2[EEx 27 27%4.65%2= 251 23 H
3EIEA 50 50%4.65%3= 698 33 H
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(m) (&) (m3)
1 NO,0 ~ NO,2+15.2 115.0 1 0.24 1.3 0.3
2 NO,2+224 ~ NO,3+45.0 73.0 1 0.24 1.3 0.3
3 NO,3+450 ~ NO,5+6.7 61.7 1 0.24 1.3 0.3
4 NO,6+36.3 ~ NO,8+39.5
5 NO,9 ~ NO,12
6 NO,12+20.0 ~ NO,15+26.5
£ 249.7 3 0.73




